Day 2 per8-9.notebook September 06, 2019

neighbor.

class if you

Sep 10-3:18 PM

1. 4x3+6x2-Tx+5, cubic, 4, 3 1-1 HWAnswer Key
. 3x%-4x+5, quadratic, 3, 2

. 156x3+4x%-x+5

. -15x3+2x%+5x+5

. -3x2-Tx+14

. -9x%%+3x-3

. 9x%-3x+3

. 6x*+27x3-18x2

. -6x7y-2x3y3+10x3y?-4x?y?
10. -y*-2y3z+x?y?+x3-xy?-2xyz
11. 2y?-32

12. 21a?-29ab-10b?

13, -4x3+23x%-12x-15
14. When multiplying two polynomials, multiply each term of

O oo NN o g B w ™M

the first with each term of the second.

Aug 13-12:39 PM
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1. Write 6x*+4x*-7x+5 in standard form.

Standard form: 4% 2+ bx™=-TIx +5

Identify: name: (' D€ . leading coefficienf‘._",_(, dcgr'ee'._f)_
2. Write 5 +3x°-4x in standard form.

Standard form:_% % =~ —<% +5

Identify: mma:ﬁ_@gﬁdmding coszicienﬂi’, degre.e:_&.,

Add or subtract. Write r answer in standard form.
3 (B2 BR(15xd-3x) = | Sy YK T—x 5

ra
4 (3x2xeB)-(15x00xd-3x) 1 X A IAT S =1 5 X Sx 3
B 7 SR TR ot~

5 (4x2'3X+9}"('4X+5 -7x2) = —3}(7‘.__‘! e ,5;

6, Subtract (2x°-3x+9) from (6-7x%)= (fr?xz‘)" ( drt=2x "’“4)
=X =AY + 3~
= I 4+3%-3

7. From (2x-3x+9) subtract (6-7x)= (15 =3y +4 ) — (b ~‘?x‘£
= QXA tq = 6 X

= Gr+ —mx S

Multiply, Write your answer in standard form.
B. 3x7(2x%+9x-6)= é X Y +217 X 3 l.?j(’-

Sep 1-4:06 PM

9, -2xPy(3x’ ey -Buys2y) — o x-’;[ — A X ELJ*‘JDK @v T 7

10. (@-2yz-y)y2x)= v (X —&;Li-;t‘) tx(x‘?-;_; t ‘3' *)
= xg o2 z.-g&“f 4‘}{3—,2;&;1_1: -x;u
=y byt A F—dny T

11. (2y-8)(y+4): ;29”%?; - Eg*m =y RRECN

.
12, (3a-5b)(7as2b): 2\ = +oab - %Sab —0b
= a\at -29ab -10b*

13,3+ - 40081 X (34 50 - S5 3x-AX
= 3 434 -4xE 15 <19 120K T
=~y 423x=—ax 15

14_Explain double distribution.
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1-2: Dividing Polynomials O

Using Long Division to Divide Polynomials —_—

().) ‘va\o ra L LO/\‘I;[_ D:vis 107\ is 2 method for dividing a O

polynomial by another polynomial of a lower degree.

o Itis very similar to dividing _JN) A ggb—“._s - A
2% = A%
Arithmetic Long Division Polynomial Long Division )(
Divisor &Q 3«<— Quotient Divisor 2y 4+ 3 = Quotient NS =
\Izw:— Dividend \f_—i— 2)2x% + 7x + 7<«—— Dividend
=37 2x(aR) FEED) A3+
-36 3X + 6
| (MMM#JM ’3(’('\—2) -'5(—)
Wi think of'1 divisi foll QCX)
€ can O long aIvision as rollows:
F(x) = 6(x) = Q(x) with a remainder of R(x) éc )() } F\< X)
where F(x) is the Dl LAY d-ef\d -
6(x)isthe D {v(sa— :
Q(x) is the v N
and R(x) is the : @.(X) /&"'6/’@

Ans = @(,(H.M}_)
G-( <
— MU\”"P’C% @Ucﬁ\'&n‘f ad Q//V._S//‘ ~,ly,evl,/{a/\

Aug 13-2:03 PM

How can you check your answer? Check both answers.

s
Example1: (2x3—4x2+2) +(2x-2) Q —X = ’2
22 [ - '-/x"J-Ox +2
Stg),l : Write the polynomial in standard form. (;\7)(3 —QXL ‘L
Include missing terms with a zero coefficient. 0
52 (x2) D‘XL’- X)
Step . Writein longdivision format. )—’ 627?_ tax

—J.
3/0 erm 20 _ X" — X “)\X +X
Step3;/Divide first terms. < —
= -1 (Q&( -2) / = Ax '\‘;

\St/ep 4: Multiply.

S\t}p’S . Subtract and bring down the next term.

2 x\L\lefx—f )
= Ax (¥ —x=1)=2x2x-)

Check and write answer. =2 }(’5.. ’)\)(L- Ax = lxl +ax +
e T =
Example2: (Ffiﬁxdﬁl+(i+33)

X 5] x=+ex +9

Step 6: Repeatsteps 3 — 5 as necessary.

‘Q(z +3x) L Che A2
AN —= 1= S e
X (443 X T4 (xt3)0x3) = X6

3%t+9
O

Aug 13-2:04 PM
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y“=+3y
Example3: (y*-27) =(y-3) _ﬁ =3 )‘%?;—o@
7—('9_-3) /_’Lﬁ_i?_ J’ L

(y-3) "@ﬁ —%O
& 2 g —37
2CY-3) -@y -37)

Exampled4: (11y2-1 @Zy) +(2y +;@ O
A g T -

9‘ (2} + l\ M> ‘L {/ U{_”L'

Ye2
y O ~ (B +iz)
*—Z'} -
— (}‘4\-\) = (292 - )
@)
Aug 13-2:04 PM
Example 5: (x2+8x +19) =+ (x +5) X—\'—B e i I 4
XtS[ x4+ Tx+14
~ (xS0 ]\
3x +19 s
-(3< +I1S)
T U= rleanden

> b
Example 6: (5% - 10+ 2x* + 5x) +(2x — 1) X TH3K + XK=/
z

X
7\)(" [;)\5(3 +Sx= +5¢ =0
= (3D
"(bK 2 3¢)
:‘ZX _—‘(/f

-b:/vgmmw

Sep 1-3:11 PM
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